

CIN No. U40109MH2005SGC153646

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD

Superintending Engineer, EHV Projects Circle, Pune

Admn. Building .III Floor, Block No.405, Rasta Peth, PUNE - 411 011.

email id: se6600@mahatransco.in

SE/EHV/PC/Pune/HR/Enquiry/

NO - 1 3 4 3

Date:

6 JUN 2017

E-Enquiry

<u>Subject:</u> E-Enquiry for supply of Raincoats & Safety shoes of various sizes for the employees working under EHV Projects Circle, Pune for the block 2017-20.

Dear Sir,

Please quote your lowest rates for the works indicated in schedule "B" enclosed on following Terms & Conditions:

Terms & Conditions:

- 1) Rate shall be quoted on firm quotation basis exclusive of all taxes & the rates shall be given in words & figures separately.
- 2) The quotation should be sent under sealed cover duly superscripted as QUOTATION FOR SUPPLY OF (Enquiry no. _____ be quoted)
- 3) Your quotation should reach this office on or before 30.06.2017 upto 17.30 Hrs and the same will be 'opened' on the same day, if possible.
- 4) No T&P and Labour will be provided by the company.
- 5) The material shall be supplied within 30 days from the date of receipt of this office order otherwise penalty @ 1% per week subject to max 10% of the order amount will be levied at the discretion of the Competent Authority.
- 6) Income tax & W.C. tax will be recovered as per prevailing rules.
- 7) Payment will be effected by this office by the cheque after satisfactory supply of material.
- 8) The undersigned reserves right to place order either partly or fully or to reject any or all the quotations without assigning any reasons whatsoever.
- 9) Please quote your PAN & VAT No. in the quotation.
- 10) The applicant / Bidder must have valid State Sales Tax/ VAT, PT, CST number and PAN/TAN issued by the Income Tax Department and submit registration certificate.

- 11) The manufacture should submit valid NSIC/ SSI certificate and ISO 9001:2015 certification for the quality management system if any.
- 12) Three sample of rain suit and safety shoes must be submitted with manufacture's label as per specification
- 13) Authorization original letter from manufactures of Rainsuit & Safety shoes as per Annexute "A" & specifically mentioned Bid number
- 14) Please submit copy of Vat/CST tax & P.T. payment receipt of 31.03.2017.
- 15) The copy of latest Shop Act License must be submitted.
- 16) Updated solvency certificate of Nationalized/ scheduled bank for amount of minimum Rs. 60,000.
- 17) The applicant should have experience of completion of supply of rainsuits and safety shoes worth an average of Rs. 2,00,000 or more between F.Y. 2013 to 2017 to any organization. Only purchase order of Rs. 30,000 or more to be enclosed along with other documents.
- 18) Please note that, all the mentioned documents submission is must. Any other alternate document will not be considered.
- 19) Proof of having average annual Turnover during the last 3 years. The minimum average turnover during last 3 years shall be 60% of the estimates cost and certified by the Chartered Accountant on the basis of audited financial statement.
- 20) List of similar supply executed during last 3 years.
- 21) Valid certificate for confirmation of the respective IS and certificate regarding electric shock proof straight upto 30 KV.
- 22) Make(brand name) & detail guaranteed features of specification along with illustrated printed catalogue of the offered.
- 23) Income Tax return for the financial year 2015-16.

Thanking you.

Encl: Schedule "B" Part I & II.

Superintending Engineer EHV Project Circle, Pune

Copy to:

- 1. Executive Engineer, EHV Projects Division-I / II, Pune / EHV Projects Division-III, Solapur
- 2. Executive Engineer(O), EHV Projects Circle, Pune.
- 3. Sr. Manager(F&A), EHV Projects Circle, Pune.

M.F.



(CIN NO. U40109MH2005SGC153646) MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD. EHV PROJECT CIRCLE, PUNE

Schedule 'B' (PART -I)

S.N.	Particulars	Unit	Qty	Rate (Rs)	Amount in Rs.
1.	Supply of Rain Suits of superior quality of various sizes as per sample approved by MSETCL and having logo " ". & sizes given below MAHATRANSCO Maharashta State Electricity Transmission Co. Ltd.				
a.	Medium	No	24	1100/-	26,400.00
b.	Large	No	20	1100/-	22,000.00
C.	XL	No	17	1100/-	18,700.00
d.	XXL	No	10	1100/-	11,000.00
e.	XXXL	No	03	1100/-	3,300.00
	Total (Rs)		74		81,400

Total Estimated cost with packing & forwarding charges & excluding VAT for Rain Suits is Rs. 81,400/-

Note:- The above rates are considered as per the maximum limit fixed by the C.O. as Rs. 1100/- vide their circular No.369 dt. 21.05.2013.

Superintending Engineer EHV PROEJCTS Circle, Pune



(CIN NO. U40109MH2005SGC153646) MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD. EHV PROJECT CIRCLE, PUNE

Schedule 'B' (PART -II)

S.N.	Particulars	Unit	Qty	Rate (Rs)	Amount in Rs.
1.	Supply of Safety shoes. (Standard make with ISI mark on each sole of shoes, as per IS 15298, Low ankle, Steel Toe Cap with light weight, Electric shock proof upto 30KV with injection mounded PV sole, bartain leather, upper resistance to oil, acid and alkali, as per size mentioned below				
a.	Size No. 06	No	07	1505/-	10,535.00
b.	Size No. 07	No	16	1505/-	24,080.00
C.	Size No. 08	No	16	1505/-	24,080.00
d.	Size No. 09	No	16	1505/-	24,080.00
e.	Size No. 10	No	12	1505/-	18,060.00
f.	Size No. 11	No	1	1505/-	1,505.00
ic Prince	Total (Rs)		68		102, 340.00

Total Estimated cost with packing & forwarding charges & Excluding VAT for Safety Shoes is Rs. 1,02,340/-

Note:- The above rates are considered as per the rate finalized by this office for the order of previous block (Rs. 1505.00)

Superintending Engineer EHV PROEJCTS Circle, Pune

निविदाधारकाची माहिती

निविदाधारकाचे नांव					
ानावदाधारकाच नाव					
निविदाधारकाचा संपुर्ण पत्ता					
	कार्यालय				
दुरध्वनी क्रमांक	कंपनी				7
3000011 201147	474411				
		-			-
	मोबाईल क्रमांक				
	-				
ई मेल आय डी			+		
एक्साईज रजिस्ट्रेशन नंबर					
हित्रसाईण राजस्ट्रसण जनर					
~ ~ ~ .				-	
व्हॅट रिनस्ट्रेशन नंबर					
से.एस.टी रजिस्ट्रेशन नंबर					
पॅन/टॅन नंबर			*		
पन/टन नबर					
व्यवसाय कर					
प्रमाणपत्र नंबर					•